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INSTRUCTIONS
PART—A

1. This paper contains 50 questions : questions 1 to 20 carry 2 marks each, questions 21 to 40 carry
3 marks each and questions 41 to 50 carry 10 marks each.

2. Minimum gualifying marks are 25%.
PART—B

1. It contains 43 questions : 1 to 35 carry one mark each and 36 to 43 carry 5 marks each.
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PART ‘A’— MATHEMATICS MM : 200
Choose the correct answer from the given alternatives :
1. The square root of 1000000 is :

(a) 100 b) 10 (c) 1000 (d) 10000
2. The square root of 16.81 is :

(@) 4.9 (b) 4.1 (c) 4 (d 2.9
3. The cube root of 74088 is :

(@) 42 (b) 44 (c) 48 - d 52
4. The cube root of — 17576 is : ;

(a) 26 (b) —36 {c) 36 (d —-26

27
5. The cube root of [_4096] is:

-3 3 7 -7

e ® 16 © 3 @ 7
6. Value of {343)?‘ is :

(@ 31 (b) 29 (c) 49 (d) 39

1
7. The value of (32 + 152)5 is:

(@) 23 (b) 17 () 27 d 7
8. The only perfect cube number between 50 and 100 is :
(@) 55 (b) 54 (¢) 75 (d) 64
9. Which one of the following is Pythagorean triplet :
@ (123 b) (2.34) (c) (34.5) (d) (4,5.6)
10. If the area of a square is 1600 m? its each side is :
(a) 400 m (b) 200 m (c) 40m . (d 20m
11. The value of 102 x 106 is :
@ 1012 (b) 10182 (c) 1812 (d) 1086
12. Factors of x2 + 9 x + 20 are :
@ (x+4)(x+5) b) (x—4)(x=5) () (x+9)(x+20) d (x+10)(x+2)
13. Product of (1 = x)(1 + X +x?) is :
@ 1+x b) x¥*-1 (c) 1—-x (d 1-x°
2x-3 -2

14. Solution of equation 3x+2 3 I8¢

5 12 : -5 -12
@ = © - © = ==
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15. A polygon having 5 sides is known as .

(a) Octagon (b) Pentagon (c) Hexagon (d) Rhombus:
16. A line through the mid points of two sides of a triangle is -

(@) Perpendiculartothe third side (b) Paralle'to the third side

(c) Coincide with the third side (d) None of these

17. 1fd1 and d2 arethe lengths of the two diagonals of a rhombus the¥n its area is:

1
(@ di+d2 (b) dixd2 @3 dlxd2 (d) dlxd2

18. Inacyclic quadrilateral opposite pairs of angles are :

(a) Complementary  (b) Supplementary (c) r=qual (d) Noneof these
19. The degree measures of an angle inscribed ina semi-circle is .

(a) 60° (b) 180° (c) 90° (d) 360°

20. Area of the surface of a sphere of radius r is :

o 3 (© 4m’ @ 4n

A regular polygon is inscribed ina circle. \f a side subtends an angle of 30° at the centre, the number of th

8
@ 6 N . ® 10 (c) 12 ()

3 %
s .
22, The squar® root of 211_6%\-.

: 8
8 \\ » 3._3— s
@ 475 ® 535\ @ 3 @ 2>
23. The cube root of (—125)% (= 3375)is:
@ 25 ®) --25 (c) V5 d) —75
24. The volume of a cubical box &3 32.768 Cum. Length of itsi each side is :
(a) 6.2mM ) 3.2'0 (c) 4.izm (d) 162m
55, The valie of (1°+2°+ s :
(@ 4 ® 8 (c) 18 . (d) 6
2. Product of (a+ b) and (a-b)is: .
(@) a? + b? {b) a? —b? (c) 2a~-2b d) 2a+2b
a
27. Thevalue of (505)°is .
(@) 128787625 (b) 1010625 (©) 1515625 d 1

28. The sum of two numbers is 45 and their ratiois7: 8 the numbers are -
(@ 21,24 b) 22,23 (c) 20,25 (@ 15,30
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31.

32.

35.

37.
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The amount of R's. 1000 in one year at 2% per annum compounded half-yearly is :

(@ Rs.1020.10 () Rs.1020 () Rs.1030.10 (d Rs.1010.10

The parallel sides of a trapezium are 15 meter and 18 meter. The distance between them is 12 m. Area of
the trapezium is :

(@ 130m? (b) 198 m? (c) 132m? (d) 138 m?

A triangle has sides 17 im, 25 nn and 26 m. Its area is :

(@) 102m? : (b) 204 m? (c) 304m? (d) 68 m?

The circumference of a circle is 44 m. Its diameter is :

@ 7m () 14m . © 22m (d) 28m

The sides of a circle is 3.5 cm. The area ol a sector of this circle with angle 1200 is :
oo 2 S 80 2

- S e ez (@ 105cm’

If the radius of a rigiht circular cylinder is 7 cm and altituc'e is 15 cm then its volume is :

(@ 2100cm? (b) 2310cm® (c) 2210cm® (d) 2130cm?

The diameter of a sphere is 14 cm then its volume is :

(a) 1427.33cm® (b) 1437.33cm? (c) 1417.33cm? (d) 1433.17 cm?

If lines | and m are both paraliel to line n then | and m are :

{a) Parallel to each other (b) Perpendicular to each other
(c) Intersecting each other (d) None of these

In the given figure DE |l BC the value of x is :

@ 3.5 ®) 2.5 ) 45 d 55
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4 x 812 x|_813 + 812
\

43. Calculate :

44 Find the value of a° + 8b°, ifa+2b=10andab =15

45. Using division state whether 3y? + Sis a factor of :

6ys+15y' +16y* +4y* + 10y - 35
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